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Addition and Subtraction Together
1) 3567+4823-1234=

2) 7458-2369+1598=
3) 6590+3421-4512=
4) 7310-2643+1984=
5) 8054+1903-3742=
6) 9216-1542+2321=
7) 5783+3194-2675=
8) 4067-2035+5742=
9) 8901+2104-3456=

10) 7325-4213+1987=

Word - Problem

Q1)- Jim had 832 marbles. He gave 256 marbles to his friend. How many marbles
does John have now?
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Q2)- Simmy had % 1450 in her bank account. She withdrew $875 to buy a new laptop.
How much money is left in her bank account?
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Q3)- A factory produced 9725 units of a product in January. In February, it produced
3240 units less. How many units did the factory produce in February?

Q4)- Eeena had 465 apples. She sold 298 apples at the market. How many apples
does she have left?

Q5)- A bookstore had 1500 books in stock. They sold 785 books during a sale. How
many books remain in stock?

Q6)- A baker made 1200 cupcakes for a party. If 875 cupcakes were eaten, how many
cupcakes are left?
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ANSWER
Addition and Subtraction Together

1) 3567+4823-1234 = 7156
2) 7458-2369+1598 = 6687
3) 6590+3421-4512 = 5499
4) 7310-2643+1984 = 6641
5) 8054+1903-3742 = 6215
6) 9216-1542+2321 = 9995
7) 5783+3194-2675 = 6302
8) 4067-2035+5742 = 7774
9) 8901+2104-3456 = 7549

10) 7325-4213+1987 = 5099

Word - Problem

Ans1)- 576 marbles
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Ans2)- 2 575

Ans3)- 6485 units
Ans4)- 167 apples
Ans5)- 715 books

Ans6)- 325 cupcakes
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